2P AT END

Our Shiur began with the Gemara referring to the Mishnah at
the end of the previous Daf which spoke about Shechting a Y
mwH Xbw noo - for the sake of another 1177 - 2 4

The X2 asks;

1poY 'R - What situation is the Mishnah referring to? ...Vﬁws S‘?W nod
-1- 01 - He mistook this noo j29p for another Korbon, and
therefore Shechted it mw5 R5w - for the sake of that other ?] PPOY INDI
Korbon. This is referred to as

myvanpy - Uprooting the designation of nos for the

designation of another 1297 based on a myv. > ) )

OR - He knew - He mistook it

-2- 971 - He knew that it's a noo 1277, and still Shechted it it's anoo for another Korbon
MWYH ROV,

This is referred to in Rashi as nyIaAaYpYy myvanIpy

nYT7277pY - Uprooting it knowingly -

AN "7 suggests;
V102 RO YA RW - The two cases of the mwn are

different:
The first case where he Shechted a mw X>w noo - for the is AN
‘ sake of another 1279 on Naw, and he’s nRvVM 271 because it is

9109 - is speaking of 97102 - he knew that the animal was a NO0) N9

noo 129p and knowingly Shechted it for another purpose. A apratolul

Because, n»v1 - would be subject to a Machlokes in noon e whether

mnm, whether 77pY "1 mywva 7Ry - Dﬁf? nat Zﬁ@ Dt IRW nggg o ‘"
oOwY MUINW 2

The second case where he Shechts noo owb omar Rw - 4 NOT & noS DwY ‘L

30 om0 oy Aepends mhiinl

if its X7 5109

another j27p for the sake of noo, and the Mishnah rules that it
depends on whether the animal is X7 to be used as a j27p
no9, is speaking of M1 - he mistakenly thought that the
animal was a noo j29p. Because, 7371 - it would not make a
difference whether it's "x7, because, since he knows it'snota
noo 1299 he cannot be considered a mz» 7272 NV,

The x3 suggests that 715X '3 would not distinguish
between nviv and 97w - in either case he is considered a v
MR 7273, but W58 "7 holds he is still nxvn 270,

YW1 ", on the other hand, does distinguish between 7w and The X2 su g9 ests. ..
97 - and only m»v is considered a mxmn 9271 VIO,

does NOT distinguish ~ does distinguish
between between

heo iy considered @ he iy considered w
. D3N DT 3)}//[ DN 97 3)}//{
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The Mishnah then said;

PP NI NPR NYHR 2719 IR -

R’ Eliezer proved from the fact that somebody who brings
other M117p as M°X R on N2W is NRLVN 271 - that
somebody who brings other mi27p as a oo 129 on N is
also 27m, and is not Mo because of Mx» 7271 IO

ywi 1 responded that the Mo of mxn 92721 M1v does not
apply to 1123 "R because

mazp 17> w’ - there is a set amount of 112’3 MI27p.

We only apply the exemption of mxn» 7272 Mv to cases like a
noo 129 where

7133p 17 PX - there are an unlimited number of HOD J297's.

The Gemara asks;

VWIT 7273 21 7SR 77D IRT R DT RIMH? -

How can we say that whenever there is a limit, R’ Yehoshua
would say that he’s 27 for violating naw, because he is not
considered a mx» 72721 7, if YW 1 holds that when there
are two babies, Nn2w 17 YW - one of which was born Friday,
and 2w v - one born on Shabbos - and the person circum-
cised the naw 17w 5w on Naw, he is Mo because he is a

Mx» 9272 "M - even though there are only these two babies
that need n>»!?

APION 13915 MK
TIDYY N2 N

ed from. - :
pree @0}7zebody fWSbmebody
who brings who brings
other miaIp as other mip as
TR WPR 011 NIV ANoO AP 01 NIW

DYSEES Wl

PN 915 9N

M3 9272 IV

Does NOT apply
to MR IR

Does apply
to noo 127

maAzp oW masR 0 PR

2

i~y
maxp MY nRT 81 9o
PN 29 VR

w1 holds
when there are two babies
MY & mwaw
and he circumcised
the naw 27 Sw on Mw

he is VD because he is a
XD 9272 VIO
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The x3m) answers that he is considered a mx» 7272 70 in the
case of the babies because the naw Sw has not yet been
circumcised, and there is still a mz» to be done.

In the case of In the case of the
the two babies NV 2P
However, he's not considered a mzm» 1272 71w in the case of
the 712°% 127p, because we are assuming they were already he is a he’s NOT a
Shechted, and there is no longer any mx» to be done. XM 97 TV MRN TITAV0

because because
the naw Sw baby they were
has not yet been already
circumcised. Shechted.
There is still a There is no
mx» to be done mx» to be done

PR» 9, who considers the person who Shechts another j27p
for the sake of a 112’3 1297 to be a mxm» 12721 MYV, would say
that even though the 712°% j29p was already Shechted -
however, when naw began it was mn75 min3 - supposed to
‘ be overridden for the j29p at some point - therefore, he's
considered a mx» 72721 70 even after it was already brought. e though
Whereas in the case of the two babies, we are speaking of itwas " dym/pWW ol
where there was a double mistake - He already circumcised METD T3
the naw Sw on Friday, and then the naw 17v Sw on Shabbos -
which means that on Shabbos it was mnT5 M x5,

!
PNRD 9
who considers Shechting another 127
for the sake of a M8 127p

to be a m3» TV
w the 123 PP

However ... )
In the case of the two babies
there was a double mistake

He already ...and then
circumcised the  the naw 17 5w
naw bw baby on Shabbos

on Friday

/)/ﬂ?’/ W) M

The Mishnah said;

noo oW onww oA 53 IR - =)} G

In a case of Shechting other mia3p for the sake of moo - nod oy {algl4”"d=Nahiryl 55 e
Ifthey were "R - appropriate to use as a no9 12, we apply

the concept of Mmx» 7272 YY - if they were not "R - not If »3N4 If not "N
appropriate to use as a noo j27p, we do not apply 7271 7YV

. We apply We do NOT apply
The x 2 explains that while pynpw '3 makes this distinction, XN T2V MR I2T72AVO

PR1 7 holds that mxm» 72721 7YV applies equally whether the
animal is appropriate or not for o9, .
pprop While pynw ™
makes this distinction
TR holds
. M1 1272 Y0 applies equally
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as long as it either can easily be confused with the noo, such
as a Pon N3, or it has to be brought as a 127p in its own right,
such as a »>Ww "Nt Sw LA, because

172 770 - he's preoccupied with Shechting it, which is a
Mitzvah.

However, even 7R "1 would not apply ms» 9272 7w, where
it would not be confused with a noo, and has no requirement
of its own to be Shechted, such as a D b3, because

112 770 RS - He's not preoccupied with it at all.

The xm) discusses some other cases of mxz» 79272 MY,

w5 w1 says that if a person eats 1M because he thought it
was regular j279p meat, he is 2°n to bring a 1277 and is not
considered a mx» 7272 7YV, because in order to be Mo it has
to be

MR WP NN ATV -

He erred while trying to do a Mitzvah, AND he ended up
doing some Mitzvah.

However, this is a case of

MRD VY R MBD I2TA V0 -

He did not do any Mitzvah.

13y 3 adds;

M09 SV 77NN, 271 YA 7T INUR -

If one inadvertently slept with his wife when she was a 773 he
is 271, but if he inadvertently slept with his n»2’ while she
was a 171 he is Moo,

There are two possible explanations of 13 '

First -

1y 1 agrees with wpb v that where one did not end up
doing a mz», he is 27m, and therefore, in the case of 1M1 one is
271, The case of 173 must be speaking of close to the time of
her no1 when there is no mz» of M, and he'’s likewise 27n
because m3n WY RS,

However, in the case of 2’ he is M09, because even though
she was a 173, he was 07p» the Mitzvah of o1,

Ay longy a8+ 14 P 1o be
brought as a 127p
in its own right

It can easily
be confused

Because 13> 750
Where it would Has no requirement
not be confused of its own

Because 15> 376 7

Other cases of mxn 9272 "WV
5

If a person eats 97
because he thought it was regular meat

MI¥K 93T APl RS 9398 Nyt
L e IR Y N9

1y adds

7//0 ip PN &9

2 EXPLANATIONS
1

myn mey 8h

2P

7//() &P 1) &P

PYE/Y of P Close to her nol
whew no 213N (’f 2w
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Second -

1y 1 disagrees with wph wn, and even X5 mxn 92721 YL
m3» IWY - no Mitzvah resulted - as in the case of 1 he is
M09,

The reason he is 27 in the case of 771 is because he should
have asked her about her status, but he cannot ask the meat

about its status. even
Eike]:vise, he is 71709 in the case of 02, since he could not ask ML 373 B
f; Vf;*juse XN Y 89
He'’s embarrassed to ask, because they do not yet have an .I’UD

intimate relationship.
7/{() /?9 AN &/3

He coukd
not ask her
because 3y 55>

IR A N -

The 822 asks what the source in o°Rin was for 30y 3 to
include the case of 02’ in the category of mzn» 7272 NYV?

The 82 has suggests four possible sources and rejects each

. one:

-1- It cannot be based on "o "1 exempting one who carried his
D y» 7 on the first day of m»o that fell on naw, because there
972137 - the mx» of 1 7 has to be done that day, and the 1

person is rushed - Whereas o2’ has no time limit It cannot be

YO "9

carried his oyn’'J
on the first day of m>o
that fell on naw
because f>» V%
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-2- It cannot be based on YW1 7 in our Mw» exempting one
who Shechts other oo owS M1, because the Moo 1297 is
also

91211 - limited to the day of moo 29.

-3- It cannot be based on YW1 '3 exempting one who does a
Bris on naw on the wrong baby, because n°71 is also
912 - set for the eight day.

-¢- Finally, it cannot be based on Wi 7 exempting a nwiis 2
%157 121 - a person who lost his status of 732, and ate N -
for two reasons:

First, it might only be talking about eating 7m0 on noo 27
when 572111 - it has to be eaten early in the day before all
v must be burned.

Second, maybe nman is different, because eating n is
considered an 7712, and JWIR RIHAIATIY -

The 771 makes 7712y of a Y>m acceptable if it was done w2
- inadvertently.

As it says;

739N YT Yo n A -

il

DafHachaim.org
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It cannot be
YY1

other moo owWY M2
because I yps

3

It cannot be
YW Y

does a Bris on naw
on the wrong baby

because > yps

4

It cannot be
YW’

nXI5M 12 w1 12

who ate 7MIN
%or 2 reasond

nn
onnoo 27

1> s Co

pnd
N

is different
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